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SN ALY
B SO U SANEY
Sl AT K2 CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
OZHUC 2CZ HEZN @ G208 &
Argtor A Z A (0 AHEZ 10%) 126,000
g X 35,103,000 30,652,900 4,450,100
X 27,264,000
< 7,839,000
KSEMLRE(AZ2R2) 20,110,000 16,577,000 3,533,000
Xl 20,110,000
403 A X EHHS 201 A 20,110,000 16,577,000 3,533,000
Xl 20,110,000
01 X EHHMAZLE L 20,110,000 16,577,000 3,533,000
OMEEXXF e XA (6IM) 20,110,000
Xl 20,110,000
ANSENLRA(E) 250,000 500,000 A 250,000
403 X SHHS =0l & 250,000 500,000 A 250,000
01 USRI =EE 250,000 500,000 A250,000
Osdtel &2 WS At 250,000
N Z3tR A 12,257,000 6,848,000 5,409,000
Xl 4,668,000
< 7,589,000
403 XX SH S X =20/ & 12,257,000 6,848,000 5,409,000
Xl 4,668,000
< 7,589,000
01 AXSHMA=2EE 12,257,000 6,848,000 5,409,000
OUEERHNE =4 12,257,000
X 4,668,000
S 7,589,000
HBXGDIBAIE X 2,486,000 6,727,900 A 4,241,900
Xl 2,486,000
401 AIEHI L 2 0] 2,486,000 6,727,900 A4,241,900
Xl 2,486,000
01 A& Hl 2,486,000 6,675,900 24,189,900
Oxgs 2252 ML 2,486,000
Xl 2,486,000
S AIHE 2tel 11,259,500 10,488,849 770,651
Xl 2,149,500
< 9,110,000
s 2A2BX(A2X2) 20,000 12,000 8,000
X 20,000
308 X EHSOIA 20,000 12,000 8,000
X 20,000
01 HIXNHHBMNEELES 20,000 12,000 8,000
ONgHsRs 22X 20,000
Xl 20,000
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HLHs s 2el2X(5) 5,500 5,000 500
X 5,500

202 o4 5,500 5,000 500
Xl 5,500

01 S LHOYI 5,500 5,000 500
OMgHMet=s 2el2x 5,500
Xl 5,500

HeEHet S = X3 AH 2,124,000 1,647,000 477,000
Xl 2,124,000

403 TtXI M SA=01H 2,124,000 1,647,000 477,000
Xl 2,124,000

01 HXSHH =L E 2,124,000 1,647,000 477,000
OMgHMet+s F=2X& 2,124,000
Xl 2,124,000

SAHAEAE ALY X2 8,485,000 8,224,849 260, 151

403 TtXI &M S A=01 A 8,485,000 8,224,849 260, 151

01 HXISHT 2L 8,485,000 8,224,849 260, 151
OZAHHANLAY X2 (FLE0) 150,000
O2&d HX =X ZdAY 1,000,000
Osdd 3FxXd M 600,000
Oz - us X FH| 300,000
Oel=H ZAIHEAE K& 1,000,000
Osdd a3 22 AEAMY 400,000
OZAIHEEAEANY X 5,035,000

KIXs=9 243 X2 400,000 400,000 0

403 TtXI M S A =01A 400,000 400,000 0

01 HXISHHG=EE 400,000 400,000 0
OKTXs=9 43 A2 400,000

SADIZAHE =" 225,000 200,000 25,000

207 ORI 225,000 200,000 25,000

01 =4l 225,000 200,000 25,000

OSET ANETA FAXM S~ (HAE2 1

0%) 225,000

FE0I2 BOITY FHAY KL 100,000 0 100,000
= 100,000

S0 2E FEIA S X 100,000 0 100,000
= 100,000

403 TtXI M SA=01A 100,000 0 100,000
= 100,000

01 XIS H X2 2 x 100,000 0 100,000
O30 7Y =89 s K& 100,000
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